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3UNS cimymREce 3 TJRYN YWIOA. stion carries 6 marks.
Answer any 3 of the following questions: Each qUe

309TR  TONR
2. Be $8peds> 5.8-2018 Tomd BOROET WS sw;RonEe

o3 Bpencde
25-2-2019 Gozb 5ROSE, HOUY woBD. S BABD S3 g@odi@g;:h
Q9. TMES 30 [RF 2019-208 de. $ERCTI ek A SONIY e
Mr. Kishore went to England for studies on 5t August 2018‘anb F e;? What is
India on 25% February 2019. He had never been out of India before.
his Residential status for the Assessment Year 2019-20 7

3. 32onod Sgﬂ@&d ﬁog@mh WWOA.
Briefly explain the cannons of Taxation.

4. 3INT STOMW FTTORT SrIRoREe ©OBe, DOLRTI, FLO.
State whether the following are agricultural income or not.
(a) BR DI, WA, SRLRHBOOT LI STOD.

Income from sale of flowers and creepers.
(b) TWOPRIYTOS ajéamcmd ZRNONOT WIT SO,
Income from agricultural land situated in Punjab.
(c) SI TG seae 98 DYVOT B STOD.
Income from self grown grass.
(d) TR 3R OB e WoB WaA.
Interest received on loan given to farmer.
(e) BO GUIZNPOT WD &S00,
Income from Dairy Products.
(f) SB/ReoH 23e0TEIBRTY BRBNTT FOTACWOT 20T SoLRo3,

Dividend received from Cbmpany engaged in agricultural activities

5. &¢ wodmdmch donert T 8000 NI SOTRN0T 2023303RN BHEeNETT <3
2018-19 ¢ SHFBQY IR, 2/3 O, AT FeIIID, TOBEFA T 5,08.000 She
TEOHZTT. YHETH MPEARIoNI, TR THEOD WS wea) Sorin ¢ oy ”4

i g = LYTRT R0WE08
STRONHI), FOWELBOND. oje
Mr. Arun is getting a pension of ¥ 8000 p.m. from a Cg x
previous year 2018-19 he got his 2/3 pension dom%il?anm D
Z 5,08,000. Calculate the total taxable pension, if he aiﬂd'? T
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: ru and let out all
Mr. Shekhar is the owner of 3 house properties in Bengalu

the houses throughout the year. e
3 House-
Eﬂllars House-A | HouseB 5 ————m’
Fair Rent 1,80,000| 1,50,000] L=~
e Sohed) ________6_-0—06a 1,00,000
Municipal Valuation 1550,000] « 2009508 —
Eetai R : 5,000 25,000
Actual Rent (Per month) 20,000 Lo —
Use by tenant Residential Office Re51dent10ao
Repair charges 10,000 » 40,0
Eollection charges 20,000 5,000 -
Lnterest on loan
(a) For construction 1,00,000 - ]
(b) For marriage of daughter = 60,000 =
() For Repairs of house property - < 10,000

Municipal tax is 10% of Municipal Valuation. Municipal tax of House-A was
paid by the owner but the Municipal taxes of House-B and House-C were
paid by the tenant. The House-C was remained vacant for 2 months.

Compute the Income from House property of Mr. Shekhar for the AY 2019-20.

10. &ccinz ToezC=Th &é‘nﬁabﬁﬂ 8 FPI0E NPT INY B9DFTNTZ0. @d%

o

ROWORAT JITRD B3 B$B0E0SI.

D=cnes 31 HI-I oR-111
AFT Fx woan 24,000 18,000 :
WIToD SAODTW, LOTIRENOH oTe WodN =3[ ER DS ROZ
NOF XSS woan 18,000 12,000/ NIL
SoRme 590, 16,000 14,000 35,600
TOoRee B0n (TR P 10%)
50@5?2563 e mdm;a Sor o200 400 3,560
LRBRTO TOBEAT TR 301 NIL 700 NIL
oTeons 1,000 500 2,000
O ©R0 2 gorisd|  NIL NIL |
S 0BeomeN TRRT OE Heds wE 800 600 2,000
-~
Somoieosms, 2015-16 dig, SRRoING D =
mRln TS STEOP IO )
2019208 307t T, 85, BOTTHT FORABYTRT T3 s
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